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High of put four balls under, put a ball above is “Omote is one syaku or Ura (mean X ) is 5"
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HEEER English version

l'High of put four balls under, put a ball above is “Omote is one syaku or Ura

(mean X ) is 5% |

To say if diameter is , high is Omote kyakusyaku and Ura kyakusyaku . So, this
answer is in diameter.

Draw in straight the center of the ball each other, and estimate this to regular
quadrangular pyramid. The length of the edge of the base of regular quadrangular
pyramid is and the high is . Namely, the high is ura . this means [first, look short
edge which put 90 degree angle that of diagonal of square . And consider the edge
which join the vertex and the vertex as hypotenuse of right triangle. Then long edge
which between 90 degree angle is urakane |

Example ) MHigh of put 5balls under, put a ball is .

This is when they put the ball of diameter as that diagram

But, whenball of diameter is, the highis .

First, put the ball in center. And connecting the center of ball, consider that regular
pentagonal pyramid. Finery cast that, the high is 5"
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The numerical value we want to know is the one which has added 1"? to the height of the pyramid:
When the height is exchanged with H. It's possible to express it with H+1...D

A diagonal line isv2 because square 1 side of a base is 1.

We_aim_at_triangle_EBD, the point_that it was taken_down from E_vertically_in BD is_supposed with H. AH=h
By using the Pythagorean theorem, h2= 12— h>0, =1.4142 h=0.7071..Q2

is substituted for ), The height of ball of 1shaku of diameter which is piled up on the bottom on 4
=1.707.

[Example]

Five balls which is diameter 4 in the bottom, the height which piled up a ball of diameter 4 on it=6.1
[Proof]

We make the Pentagonal pyramid connected a center of the sphere.

This is as F-GIJKL. Point of intersection with the perpendicular line taken down from point F vertically and
base is assumed O.We make the Pentagonal pyramid connected a center of the sphere.

Height FO of the Pentagonal pyramid of | can expressed by the Pythagorean theorem as FO? = FG2-GOZ...

Is FO = FG = 4 than hypothesis.

Substitute these for(2). -

s5in36=0.5878 FO>0

FO= FO=2.102 Because this is pentagonal pyramid,the radius of the ball is added to this for two of the top
and the bottom, and, 6.1.

Q2@like How long lengh when piling up a ball of diameter 1?

[Proof]

When a diameter is 4, the height is 6.1 from D

Because the size of the ball is 1/4 time, the height is also done 1/4 time, and, 0.525
[Addition]

The height of five pyramids 2= x

It's untied like 1, x2=12- X<0 1% . *Jﬂiﬁj’ % H

X=v0.2764 X=0.525
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SHDEBE futures problem

It is difficult to understand that original sentence show which

%*}Jl‘:ﬁiﬁiﬁﬁﬁﬁféf‘fb\_‘%@@t_liﬂftﬁﬁ??’f?’t}\:)ﬁ?lif%?i& part of place. Because this problem is solid figure. in
g:bbfg.l,\-‘é,d)f@?f::_d)&?l-%%&ﬂiﬁﬁf)\bﬁﬁﬁﬁ’\&iﬁﬁ mathematical thought, it is difficult to how plain express solid
MENYPFTNESTHPEYD AT TH S, figure and explain too. We used jeojebra as a solution.

First, give an exercise. Next, give applied question.
This policy does not change.
This is how it is important for everyone to solve questions easily.
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